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Word Problems | Grade 4 | Multiplication
Questions

NAME: ettt neeas Date: e

1 The factor pairs for 12 are:
1land 12
2and 6
3and 4

a Can you find all the factor pairs for 367

b  Can you find all the factor pairs for 48?

2 Amelie visits a local aguarium. She sees turtles with 4 legs, starfish with 5
legs and octopuses with 8 legs in the tank.
She sees 84 legs altogether in the tank.

a How many of each sea creature is in the tank if there are exactly 14
sea creatures altogether and 3 more starfish than octopuses?

b  Whatis the greatest number of legs there could be in
the tank if she sees 25 sea creatures altogether?
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3 Complete the multiplication grid by writing the missing factors and products
into the correct places.

x 5 12
25 30
27 90
35 84
48
110 44

4 Sam and Rachel are siblings.
Sam’s age is a multiple of 4.
Rachel’s age is a multiple of 3.
There are 2 years between their ages.
When they multiply their ages together and then multiply the resulting
number by their mom’s age, the answer comes to 1,728.

a How old are Sam and Rachel?

b How old is their mom?
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5 Carly has created a multiplication calculation. It is as follows:
2X2x2%x2%x2%x2
She tells Liam that she has a number that when multiplied by itself gives the

same answer as the calculation above.

a  Whatis the answer to both of Carly’s calculations?

b What number did Carly multiply by itself to get this answer?

6 Marcus has booked his flight to Paris. His booking number is 12 digits long.
The last 3 digits make up a common multiple of 9 and 12 that lies between
301 and 350.

What are the last 3 digits?
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7 Bill scored 64 points in a game. He scores 6 or 4 points at a time.
For example, he could have scored ten 6s and one 4 (60 + 4 = 64).

a Find two other combinations of 6s and 4s Bill could have scored.

b How many possible combinations of 6s and 4s could Bill have scored to

get a score of 64?

8 Beatrice has two types of blocks.
One block is 3m by 3m, the other block is 2m by 2m.
She needs to create a patio for a castle using the blocks.

The patio measures 12m by 6m.

a If she was only using 3m by 3m blocks, how many would she need to

use?

b If she was only using 2m by 2m blocks, how many would she need to

use?
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9 Anyais thinking of a number that Lily has to guess. Lily has the following
clues:

It is a 2-digit number.

It is a multiple of 9.

The closest prime number is one less than it.

The difference between the two digits is 9.

What is Anya’s number?

10 There are seven children in a class.
They have been asked to organize number cards from 1 - 40 into different
groups.
Amy is collecting multiples of 3.
Ben is collecting prime numbers.
Cathy is collecting square numbers.
Dominic is collecting multiples of 5.
Ellie is collecting factors of 40.
Francis is collecting factors of 36.
Glenn is collecting multiples of 4.

a Who gets the least number of cards?

b Who gets the most number of cards?

c Name two children who will have to share one card between them.
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Challenge Question!

Patek has a set of O - 9 digit cards.

She says she can create any number from O to 30 using single digit by single digit
multiplication calculations, for example 4 x 5 = 20.

She can use the digits more than once but she can only use multiplication.

Is Patek’s statement true or false? Use the space provided to investigate and then
write your conclusion below.
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Answers
4 )
Question
Question Answers Standard
number
1 The factor pairs for 12 are: a) Factor pairs for 36: 1 x 36, 4.0A.B.4
1land 12 2x18,3%x12,4%x9,6x6.
2and 6 b) Factor pairs for 48: 1 x 48,
3and 4 2x24,3x16,4%x 12,6 x 8.
a) Can you find all the factor
pairs for 367
b) Can you find all the factor
pairs for 487
2 Amelie visits a local a) 5 Octopuses, 8 Starfish, 1 40A.B.4
aquarium. She sees turtles Turtle.
with 4 legs, starfish with 5 b) 25 Octopuses =
legs and octopuses with 8 25 x 8 =200 legs.
legs in the tank.
She sees 84 legs altogether
in the tank.
a) How many of each sea
creature is in the tank if there
are exactly 14 sea creatures
altogether?
b)What is the greatest
number of legs there could be
in the tank if she sees 25 sea
creatures altogether?
3 Can you complete the x 5 3 10 12 6 4 4.NBT.B.5
multiplication grid by writing
the missing factors and > | 25|15 /50 |60 3020
products into the correct 9 45 27 90 108 54 36
places?
7 35 21 70 84 42 28
8 40 24 80 96 48 32
11 55 33 110 132 66 44
\ J
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Vs

Question
number

Question

Answers

Sam and Rachel are siblings. a) Sam is 8, Rachel is 6.
Sam’s age is a multiple of 4. b) 1,728 + 48 = 36
Rachel's age is a multiple of Their mom is 36.

3. There are 2 years between

their ages. When they

multiply their ages together

and then multiply the

resulting number by their
mom’s age, the answer comes

to 1,728.

a) How old are Sam and

Rachel?

b) How old is their mom?

Carly has created a

a) 64

multiplication calculation. Itis ' b) Carly multiplied 8 by itself

as follows:
2X2X2%Xx2%x2x%x2

(8 x 8 = 64)

She tells Liam that she has a
number that when multiplied
by itself gives the same
answer as the calculation

above.
a) What is the answer

to both

of Carly’s calculations?
b) What number did Carly
multiply by itself to get this

answer?

Marcus has booked his flight 324
to Paris. His booking number

is 12 digits long. The last 3

digits make up a common

multiple of 9 and 12. that lies

between 301 and 350
are the last 3 digits?

. What

Standard

4.0A.A3

4.NBT.B.5

40AB. 4

~
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Vs

Question
number

Question

Bill scored 64 pointsin a
game. He scores 6 or 4 points
at a time.

For example, he could have
scored ten 6s and one 4 (60 +
4 = 64).

a) Find two other
combinations of 6s and 4s Bill
could have scored.

b) How many possible
combinations of 6s and 4s
could Bill have scored to get a
score of 647

Beatrice has two types of
blocks. One block is 3m by
3m, the other block is 2m by
2m. She needs to create a
patio for a castle using the
blocks. The patio measures
12m by 6m.

a) If she was only using 3m
by 3m blocks, how many
would she need to use?

b) If she was only using 2m
by 2m blocks, how many
would she need to use?

Anya is thinking of a number
that Lily has to guess. Lily has
the following clues:
e Itis a 2-digit number.
e Itis a multiple of 9.
e The closest prime number
is one less than it.
e The difference between
the two digits is 9.

What is Anya’s number?

Answers

a) These are the possible
combinations:

4s 6s

1x4 10x 6
4x4 8x6
7 x4 6x6
13 x4 2x6

b) There are five different
combinations.

a) 8 of the 3m by 3m blocks
b) 18 of the 2Zm by 2m blocks

90

Standard

40AB.4

4.NBT.B.5

40AB4

~

© Third Space Learning 2023. You may photocopy this page.



Word Problems | Grade 4 | Multiplication

4 )
Question
Question Answers Standard
number
10 There are seven children in a a) Cathy gets the least 4.0A.B.4
class. They have been asked number of cards.
to organize number cards b) Amy gets the most number
from 1 - 40 into different of cards.
groups. Amy is collecting c) The following cannot share
multiples of 3. Ben is any card with each other:
collecting prime numbers.
Cathy is collecting square Ben and Cathy
numbers. Dominic is Ben and Glenn
collecting multiples of 5. Amy and Ellie
Ellie is collecting factors of Dominic and Francis
40. Francis is collecting
factors of 36. Glenn is All other combinations can
collecting multiples of 4. share at least one card.
a) Who gets the least number
of cards?
b) Who gets the most
number of cards?
c) Name two children who
will have to share one card
between them.
Challenge Patek has a set of O - 9 digit False. 4.NBT.B.5
Question cards. The double digit prime
She says she can create any numbers (11, 13,17, 19, 23
number from O to 30 using and 29) cannot be made;
single digit by single digit neither can the numbers 22 or
multiplication calculations, for = 26.
example 4 x 5 = 20.
She can use the digits more
than once but she can only
use multiplication.
Is Patek’s statement true or
false? Use the space provided
to investigate and then write
your conclusion on the
answer line provided below.
\- 4
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Do you have a group of students who
need a boost in math?

Each student could receive a personalized lesson every week from our
specialist one-on-one math tutors.

\/ Differentiated instruction for each student

\/ Aligned to your state’s standard

\/ Scaffolded learning to close gaps

Speak to us

[ thirdspacelearning.com/us/
e +1929-298-4593

9 hello@thirdspacelearning.com
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